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‘ COST ACCOUNTING
' PAPER—AH4

l 7 (Honours)

|
|  Full Marks : 100

Time : 4 Hours

Th'F figures in the right-hand margin indicate full marks.

| .
Candidates are required to give their answers in their

own words as far as practicable.

| :

| Nustrate the answers wherever necessary.
!

\

1.! Answer any five guestions :

|

|
' (a) What methods of costing would you apply in the

5x4

following industriés ? Give reasons.
(ij Printing Press

(Turn Over)



(¢}

{d)

(&)

(h)

(i) Cycle Manufacturing
(ili) Soap Industry

{iv) Textile Industry. 4x1

Give the functional classification of overhead with

suitable example of each such class.

Define ‘Re-order Stock Level’,

What do you mean by ‘Inter-Process Profit’ ?
What is ‘Material Cost Variance’?

Critically examine the need of cost accounting with
reference to the inadequacies of financial accounting.

Give four points.

‘Abnormal idle time wages are included in cost of
production.” — Do you agree with this statement ?

Justify your answer.

Distinguish between ‘Cost allocation’ and ‘Cost

apportionment’,
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!
(ij Explain the following terms used in contract costing :

|
I(ij Contract with Escalation clause,

2+2

:(ii) Cost plus contract.

|
() What will be the effect of the following on the break-

leven-point and profit-volume ratio ?
|

. ; . ; :
, (i) Increase in the selling price per unit,

|
| (ii} Increase in number of units of sales. 2+2

|
[ .
. 2. Ariswer any five questions : 5x8

determine the

{a} From the following particulars,

| “Economic Order Quantity’ :

‘I Ordering Quantities Price per kg.
| (kg.) (Rs.)
\l Less than 2,000 20.00
F 2,000 to 5,999 , 19.50
|| 6,000 to 11,999 19.00

12,000 to 23,999 18.50
. 24,000 and above 18.00

{Turn Over)
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Other information :

{1) The average monthly consumption of material —
2000 kgs.

(i) Ordering cost — Rs. 50 per order.

(iti) Carrying cost per annum — 25%. 8

(b) A manufacturing company has four production
departments and two service departments. The
following is the departmental distribution summary
for the month of March, 2018 :

Production Departments :
M — Rs. 1000 ; N — Rs. 900 :
O — Rs. 800 & P — Rs. 700

Service Departments :
Transport — Rs. 550 ; Power — Rs. 380

Expenses of Service Departments are to be re-

apportioned on the basis of the following percentages :

Production Departments  Service Departments

Service Deptts. M N 0 P Transport Power
Transport 10% 30% 20% 20% — 20%
Power 30% 20% 30% 10%  1Q% —

Prepare a statement showing the re-apportionment of
expenses of two service departments to production
departments. 8
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; :
.

|

{c) With imaginary figur
|
|article into Prime cost, F
e
‘I Cost of Sales. If profit is 20% on sales, determine t

es, analyse the total cost of an

actory cost, Office cost and
he

‘! sale price. 8
|
{d) Write short notes on : (any two)
| (1) Labour Turnover
: (iiy Break-Even Chart
\l (iiij Abnormal Loss & Abnormal Gain
|
' 4+4

' (iv) Notional Cost.

From the following information, compute the raw

(®)
i materials purchased :
: Opening stock of raw materials Rs. 4,000
l\! Closing stock of raw materials Rs. 3,000
| Rs. 21,000

Direct wages
; Factory overhead 50% of direct wages
I General overhead -10% of works cost
' Cost of production Rs. 68,750

8
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(i A worker produced 200 units in a week. The
guaranteed weekly wage payment for 35 hours is Rs.
105. The expected time to produce one unit is 15
minutes which is reduced further by 20% under

incentive scheme.

What will be the total earnings of the worker under
Halsey (409 sharing) and Rowan bonus schemes.

4+4

(8 In a process 400 units of materials have been
introduced at a cost of Rs. 19200 and other

: : < il
expenditures incurred in the process are ;

Wages Rs. 6000 and Overheads Rs. 2600. Estimated
normal loss is 15% and Scrap value is Rs. 20 per unit,
The actual output is 360 units. All scraps were sold

for cash.

Show the Process Account, Normal Loss Account and

Abnormal Gain Account. 8

“‘ﬂ What is Labour Turnover ? Briefly explain the costs
of Labour Turnover (with example) and treatment in

cost accounts. 2+3+3
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(1]5 What do you understand b‘y under and over-

| absorption of factory ovcrheads ? How are they
4+4

‘| treated in cost accounts ?
|

(j) Previous ye

ar’s results for a dlvisxon of a
|
: ing company are summansed as follows :

1 manufactur

! Rs.

| Sales 57,00,000

|‘ Loss - Variable cost  _38,00,000

l‘ Contribution 19,00,000

w Fixed costs 18.00,000
Profit . 1,00,000

| - Assuming no change is made in the sale price or in

the ratio of variable costs to sales or in the amount

|
of the fixed costs, you are required to answer the
| following question :-

(i What is the break even sales?

(i) What sales are required to earn & profit of

| Rs. 2,50,000 ?
|

(i) What profit should be achieved if sales were

; Rs, 71,25,000 ? 2+3+3

(Turn Quer)
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3. Answer any two questions : 2%x15

(a) From the information given below, you are required

to calculate the following cost variances :
(i} Labour cost variance
(i) Labour rate variance
(iii) Labour efficiency variance
(iv) Idle time variance.
Information
(i} Actual wage rate per hour — Rs. 2
{if) Actual Time-worked — 1500 hrs.
(iif) Standard Time allowed — 1600 hrs.
(iv)] Standard labour cost per hour — Rs. 1.50

{(v) Idle time (abniormal) — 50 hrs. 15

(b) Write short notes on ¢ (any three}
(i} ABC Analysis
(ii) Pruchase Requisition
(ilf) Standard Costing
(iv) Idle Time

(vl Overhead Absorption. 5x3
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' The following are the particulars in respect of contract
' A for the year ended 31. 12.2017. Prepare contract

. account.

| ,

l‘ : ' 7 Rs.

. Materials sent to site 1,60,000

| Wages paid 1,70,000

. Wages unpaid 4,000
; Other expenscé 25,000
' Plant sent to site ' 2,50,000
| Materials returned to stores 10,000
| Materials lying unconsumed 10,000
[ Materials stolen from site 12,000
‘ .

| Insurance claim admitted .
: for materials stolen 9,000
IF Work uncertified 12,000

3,60,000

| .
Cash received

f Plant is subject to depreciation'@ 10% and cash has
of Work Certified.

to the extent of 80%
15

been received
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{d) From the following information select the most
suitable method of pricing material issues and write

up a stores ledger card based on the method :

1.3.18 Opening balance 240 kg. @ Rs. 75/kg.

1.3.18 Purchased 440 kg. @ Rs. 76/kg.
3.3.18 Issued 100 kg.
5.3.18 Issued 160 kg.
12.3.18 Purchased 100 kg. @ Rs. 78/kg.
13.3.18 Issued . 240 kg.
18.3.18 Issued 250 kg.
22.3.18 Purchased 500 kg. @ Rs. 80/ké.
28.3.18 Issued 200 kg
31.3.18 Issued 220 kg.

On 24.3.18, a shortage of 10 kg. was nbticed in stock-
taking. 15

lInternal assessment — 10 marks b
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Production Departments :
M — Rs. 1000 ; N — Rs. 900 ;
O — Rs. 800 & P — Rs. 700

Service Departments !

. Transport — Rs. 550 ; Power — Rs. 380

Expenses of Service Departments are to be re-

apportioned on the basis of the following

pcrgentages :

Production Departments Service Departments

Service Deptts. M N O . P Transport - Power
Transport 10% 30% 20% 20% — 20%
Power 30% 20% 30% 10% 10% —

cRemRPE e 4gr Sedmasial Restefem Wty
o+ A @3t T oawe 37 b

() NS AT AW GG STe b AR & 9,
FURE 7, SRew 7 ¢ ey Al e Resd
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%9 | . ¥
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Opcning -Stock of raw materials Rs. 4000

Closing stock of raw materials Rs. 3000

Direct wages ; Rs. 21000
Factory qverhead 50% of direct wages
General overhead 10% of works cost
Cost of production le. 68750

¥

- (5) A worker produced 200 units in a week. The

guaranteed weekly wage payment for 35 hours is Rs.

105. The expected time to produce one unit is 15

minutes which is reduced further by 20%‘under

incentive scheme.
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What will be the total earnings of the worker under

Halsey {40% sharing) and Rowan bonus schemes.

8+8

(8) In a process 400 units -of materials have been

introduced at a cost of Rs. 19200 and other

expenditures incurred in the process are :

‘Wages Rs. 6000 and Overheads Rs. 2600. Estimated
normal loss is 15% and Scrap value is Rs. 20 per unit.

The actual output is 360 units. All scraps were sold

for cash.

Show the Process Account, Normal Loss Account and

Abnormal Gain Account. 4
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() Previous year’s results for a division of a

manufacturing company are summarised as

follows :
Rs.
Sales 57,00,000
Less : Variable cost 38,00,000
Contribution 19,00,000
Fixed costs _ 18,00,000
Profit ' 1,00,000

Assuming no change is made in the sale price or

in the ratic of variable costs to sales or in the
amount of the fixed costs, you are required to

answer the following question :
(i) What is the break even sales ?

(i) What sales are required to earn a profit of
Rs. 2,50,000°?

(iii) What profit should be achieved if sales were

Rs. 71,25,0007? 2+9+9
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\
(o) The following are the particulars in respect of

contract account.

Materials sent to site

Wages paid

Wages unpaid
Other expenses

Plant sent to site

Materials returned to stores
Materials lying unconsumed
Materials stolen from site

Insurance claim admitted

for materials stolen
Work uncertified

Cash received

Certified.

C/18/B.Com./Part-1I{H)/3T(N)/ AH4

contract A for the year ended 31.12.2017. Prepare

Rs.
1,60,000
1,70,000

4,000
25,000
2,50,000
10,000
10,000

12,000

9,000
12,000

3,60,000

Plant is subject to depreciation @ 10% and cash
has been received to the extent of 90% of Work

I

{Turn QOver}
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(9) From the following information select the most

suttable method of pricing material issues and

write up a stores ledger card based on the method :

1.3.18 Opening balance
1.3.18 Purchased
3.3.18 Issued

5.3.18 Issued

12.3.18 Purchased
13.3.18 Issued

18.3.18 Issued

22.3.18 Purchased
28.3.18 Issued

31.3.18 Issued

On 24.3.18, a shortage of 10 kg.

stock-taking.

240
440
100
160
100
240
250
500
200

220

kg. @ Rs.

kg. @ Rs.

kg.
kg,

kg. @ Rs.

kg.
kg.

kg. @ Rs.

kg.

kg.

[SeEard egrme — o T9H |
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75/kg.

76/kg.

78/ ke.

80/kg.

was noticed in

15
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